Addition Horizontale de Décimaux (I)

Calculez chaque somme.

969,97 + 9,72 = 284,9 + 88,1 =
238,356 + 75,17 = 513,4 + 29,522 =
9,675 -+ 8,984 = 885,754 1,872 =
58,2 + 3,188 = 32,3 + 8,209 =
364,58 + 8,933 = 961,81 + 95,5 =
9,09+ 1,9 = 33,37 + 5,44 =
32,653 + 9,325 = 9.2+ 8,94 =
15,255 + 7,8 = 720,387 4 7,927 =
24,02 4 5,377 = 677,94 + 42,957 =
23,778 4+ 5,69 = 53,3+ 5.8 =
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Addition Horizontale de Décimaux (I) Réponses

Calculez chaque somme.

969,97 + 9,72 = 979,69 284,9 + 88,1 = 373
238,356 + 75,17 = 313,526 513,4 + 29,522 = 542,922
9,675 + 8,984 = 18,659 885,75 + 1,872 = 887,622
58,2 + 3,188 = 61,388 32,3 + 8,209 = 40,509
364,58 + 8,933 = 373,513 961,81 + 95,5 = 1057,31
9,09 + 1,9 = 10,99 33,37 + 5,44 = 3881
32,653 + 9,325 = 41,978 9,2+ 8,04 = 18,14

15,255 + 7,8 = 23,055 720,387 + 7,927 = 728,314
24,02 + 5,377 = 29,397 677,94 + 42,957 = 720,807
23,778 + 5,69 = 29,468 53,3+ 5,8 =59,1

MathsLibres.com




